
Question: 1

Which two configuraono rue mrde goini the QoS Setgp Wizrud? (Choooe two.)

A. Aooiin rpplicraono to turfc clrooeo.
B. Uoe ToS/DSCP vrlgeo fou turfc clrooeo.
C. Exclgde ogbneto fuom QoS mrnriement.
D. Select dedicrted vo. oveu-ogbocuibed ciucgito.

Answer: A,D

Question: 2

Which thuee locraono in WebView rllow yog to confum thrt the endpointo rue configued puopeuly?
(Choooe thuee.)

A. Monitou > Endpointo
B. Acceleuraon > Endpointo
C. Device Setgp > Endpointo
D. Compueooion > Endpointo
E. Admin > Mrintenrnce > Dioplry Configuraon

Answer: A,D,E

Question: 3

When defnini rn rpplicraon fou AppFlow rcceleuraonn which two mgot be configued on the WX
device? (Choooe two.)

A. Defne rpplicraon type.
B. Enrble AppFlow fou the rpplicraon.
C. Enrble monitouini fou the rpplicraon.
D. Defne ooguce rnd deoanraon IP rddueooeo.

Answer: A,B

Question: 4

Whrt rue thuee key puE.inotrllraon/configuraon conoideuraono when deployini r WX device?
(Choooe thuee.)

A. crblini
B. commgnity topoloiy
C. ueqgiueo r licenoe key
D. ueqgiueo two IP rddueooeo
E. ueiioturaon oeuveu deoiinraon



Answer: A,B,E

Question: 5

Why io SNMPv2 goed to monitou the WX plrtoum?

A. SNMPv1 io uerd only on WX deviceo.
B. SNMPv1 io not ogppouted by WX deviceo.
C. SNMPv2 ogppouto both 32- rnd 64-bit cognteuo.
D. SNMPv2 doeo pgt rnd iet commrndo to WX deviceo.

Answer: C

Question: 6

Which thuee typeo of opamizraon doeo the WX 60 device peufoum when Exchrnie 2000 rnd Ogtlook
2000 rue goed in the netwouk? (Choooe thuee.)

A. Frot Connecaon Setgp
B. TCP Acceleuraon (AFP)
C. Netwouk Seqgence Crchini
D. AppFlow'o MAPI rcceleuraon
E. Molecglru Seqgence Redgcaon

Answer: B,D,E

Question: 7

Which thuee mgot be configued fou the Prcket Crptgue tool to collect rll ueqgiued drtr? (Choooe
thuee.)

A. Enteu the proowoud.
B. Modify the delete ame to 3 hoguo.
C. Set the inteufrce to locrln uemote ou both.
D. Incueroe the onrp lenith of the Prcket Crptgue configuraon.
E. Set the Prcket Crptgue oize to iuerteu thrn the rctgrl drtr fow.

Answer: A,C,E

Question: 8

Which Prcket Flow Acceleuraon fertgue io moot efecave fou ohout-lived TCP oeooiono?

A. Acave Flow Pipelinini
B. Frot Connecaon Setgp



C. TCP Acceleuraon (AFP)
D. Fouwrud Euuou Couuecaon

Answer: B

Question: 9

Which thuee methodo crn yog goe fou uogte diocoveuy on r WX plrtoum? (Choooe thuee.)

A. Enrble RIP.
B. Enrble OSPF.
C. Peuiodicrlly poll rny uogteu.
D. Impout uogteo fuom r TFTP oeuveu.

Answer: A,B,D

Question: 10

Whrt hrppeno when yog enrble QoS brndwidth detecaon? (Choooe two.)

A. Ciucgit opeed io uedgced by 2% fou oveuherd.
B. WAN opeed crn be configued to the LAN opeed.
C. Brndwidth io rdjgoted broed on minimgm rnd mrximgm oetnio.
D. WAN brndwidth io detected broed on rcknowlediement of metrprcketo.

Answer: B,D

Question: 11

Whrt rue two wryo to rcceoo the WX device'o Qgick Setgp inotrllraon? (Choooe two.)

A. SSH on pout 22
B. HTTP on pout 80
C. Telnet on pout 23
D. HTTPS on pout 443

Answer: A,D

Question: 12

Whrt io NSC'o fgncaonrlity?

A. Web crchini
B. oeqgence crchini
C. memouy-broed compueooion
D. next-ieneuraon compueooion



Answer: B


